e - BB #HZ - #4%B
S _@_l_ BZ ZE. s
(2] 0<e<zeLT L7=M->T a+2 +3 DEDELEOHFHIZ
sina = cos 2/ ~ -3
. ﬂSa+£L+£LS n
BRI T BICDWTEZALD, 2ZL, 081,95, + - 2 3 = =
FEAE, a=——DEE, fOLEDEDEIT — & 4 D /
- ’ 6 ’ Mt S THD K0T, yHRRLBE ¢ O === THD, TOLEO
N
—DOTHh 5, .
yDEIL] 7 | THBIENDLNMD, 7 B TEESABOE, KO
ZDEIIT, aDBRMBIZTHLT, BOEDEBEIT—DHZ, ZOIDHD
~RB)DHBEMNE—DEEN,
INEWEHZ B, KEWEHZ B, &L @ @ K =
. 181 32
y = snn(a + == %—————)
2 3 1 2 3
0 + 0 @ - 04

DERARERD e DEEEFDEEDy DEZRDEL D,

m,&%aé%mf§?&,0§a<{}@&%@

%
B = 4 - ¢ , Ba2= T+ ¢
2 W Tz N
am@,{}gaén@&%m
j'_"_
fi=— =t =, = 7 ==
F % F >,
ElRB,

EHZ 0 - HEBE 1 HIIRR—-JTEL<)



